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Equal 9 step grey scaling betweeb* gon=8.1 andL* go,v=95.9, Yoref=3.6, normalisation whiteW

Equal 9 step grey scaling betweeb*gpn=8.1 andL* gaw=95.9, Yoref=0.9, normalisation whiteW

L*0an=8.1,L*0a=52.1,L*0an=96.0, Yoan=0.9, Yoau=20.2, Yoanw=90.0,Coay=Yoaw: Yoan=99.9
L*tan=24.7,L*155=54.9,L*1an=96.0, Yian=4.3, Y1au=22.9, Y;an=90.0,Ciay=Yiaw: Yian=20.8
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%= 58, g'= 47 9%= 93, g%= 91

L*0an=8.1,L*0a=52.1,L*0an=96.0, Ypan=0.9, Yoa=20.2, Y0aw~90.0,Coay=Yoaw: Yoan=99.9
L*ian=14.3,L*t5=52.8,L*1a1~96.0, Yian=1.8, Y;au=20.9, Y;an~=90.0,Ciay=Yiaw: Yian=50.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%s=81, g5= 74 g%= 96, g’y= 94

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1125 *a Al*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 109 *a Al*a
1007 (e 90 120 90 10! 9.0 10 900 10 96.0 1007 (e 960 10 90 120} 9.0 10 900 10 96.0
: 105 8.6 : 10.9 10.0
8 850 0875 660 0731 855 0.852 669 0.8 87.4 8 850 0875 660 0731 85.1 0.867 663  0.877 86.0
: 10.4 8.8 : 10.8 10.1
75+ (7 740 075 467 0515 751 0.707 484  0.757 78.7 75+ (7 740 075 467 0515 743 0.734 472  0.753 75.8
3 10.2 9.0 3 10.8 10.2
6 630 0625 31.6 0345 649 0563 339  0.631 69.7 6 630 0625 316 0345 635 0.602 322 0628 65.6
3 9.9 9.1 | 10.7 103
5oL @5 521 05 202 0217 54.994 0.424 229 0502 60.5 os 5oL @5 521 05 202 0217 528 s 0472 209 0502 55.3 o
@ 411 0375 119 0124 455 0292 149 0372 51.3 @: 411 0375 119 0124 423 0.343 127 0374 44.9
3 8.6 9.2 3 10.2 10.4
@: 301 025 63 006 369 0171 95 0.243 42.0 @3 301 025 63 006 320 0217 7.1 0.246 34.4
251 3 7.2 8.8 251 3 9.6 103
@2 191 0125 28 0021 297 007 6.1 0.119 33.2 @2 191 0125 28 0021 224 0.099 3.6 0.12 24.1
: 5.0 8.5 : 8.1 9.8
@: 81 00 09 00 247 00 43 0.0 24.7 @: 81 00 09 00 143 00 18 0.0 14.3
o+ : ot :
. : featinn: YoaitY( . : feAtinn- Yoait Y
Al*g110  (i=1,2,...,8) | normalisation: Ytaiw:YOaWYig:l‘\'/\fr\O(E)erfef AL*=11.0  (i=12,.8) : normalisation: YtaiW:YOaWYig:\lAﬁ%?fef
eep40-3n eep4l-3n

Equal 9 step grey scaling betweeh*o;,Nz&l andL* gaw=95.9, Yoref=0.4, normalisation whiteW

Equal 9 step grey scaling betweeh*ogNz&l andL* gaw=95.9, Yoref=1.8, normalisation whiteW

L*0an™8.1,L*0au=52.1,L*0an=96.0, Yoan=0.9, Yoau=20.2, Yoan=90.0,Coay=Yoaw: Yoan=99.9
L*tan=11.2,L*au=52.4,L*1aw=96.0, Yian=1.3, %tau=20.5, %aw=90.0, Gay=Yaw: Ytan=69.5

L*0anm8.1,L*0au=52.1,L*0an=96.0, Yoan=0.9, Yoa=20.2, Yoanw=90.0,Coay=Yoaw: Yoan=99.9
L*tan=18.6,L*1au=53.6,L*tan~96.0, Yian=2.6, tau=21.6, ¥iaw=90.0, Gay=Yiaw: Yian=34.0
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Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps n
g* = 100 PL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,,=100 g* = 100 PL*min] / [AL* max], L* ciELAB = 116 [Y/Y,]13 — 16 with Y >= 0,882,Y,=100 =1
%= 99, g%y= 99 g%= 90, g%y~ 86 %= 97, g%= 96 g%= 99, g¥%= 99 g%= 71, g%~ 61 %= 94, g%= 91 o
L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output <
n0.i L*0a L*Or YOa YOr ;L*a AL*a L*r Yta (L*tr) 11041 *a Al*a n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) V115 *a Al*a o
1007 (M9 90 10 90 10] 9.0 10 90 10 96.0 1007 (e 960 10 9.0 120] 9.0 10 900 10 96.0 ge)
; 10.9 105 3 10.7 9.4 =
8 850 0875 66.0 0731 85.1 0.871 66.1  0.876 85.5 8 850 0875 66.0 0731 852 0.861 665  0.878 86.6 =1
: 10.9 10.5 : 10.7 9.5 o
75+ (7 740 075 467 0515 74.1 0.742 469  0.752 74.9 75+ (7 740 075 467 0515 74.6 0.723 476  0.755 77.0 c =
3 10.9 10.6 3 10.6 9.7 5 C
6 630 0625 316 0345 63.3 0614 31.9  0.627 64.3 6 630 0625 316 0345 64.0 0587 328  0.629 67.3 c @
; 10.8 10.7 ; 10.4 9.9 ~3
1 @5 521 05 202 0217 524 0.486 205  0.501 53.7 1 @5 521 05 202 0217 536 0452 216  0.502 57.4
sor ® i 108 10.7 so @ i 10.1 10.0 2
@+ 411 0375 119 0124 416 0.358 123  0.374 43.0 @+ 411 0375 119 0124 434 0.321 134 0373 475 @
3 10.6 10.7 3 9.6 10.0 S
@: 301 025 63 006 310 0.233 6.6 0.248 322 @3 301 025 63 006 338 0.197 7.9 0.244 37.5 g_)
25— 3 103 10.6 25— 3 8.6 97 o
@2 191 0125 28 0021 207 0.111 3.2 0.122 21.6 @2 191 0125 28 0021 252 0.086 4.5 0.119 27.8 o
: 9.4 10.3 ; 6.6 9.2 o
@: 81 00 09 00 112 00 13 0.0 11.2 @: 81 00 09 00 186 00 26 0.0 18.6 ('ﬁ
o AL*.=11.0 (i=1,2,...,8) normalisation: Yeiw=Yoaw-y0ar Yoref o AL*.=11.0 (i=1,2,...,8) normalisation: Yeaiv=Yoaw-y0ar Yoref =
oa—11. =1,2,..., i - Ttaiw OaWYOaW+Y0ref oa—+11l. =1Z,..., i - Ttaiw OaWYOaW"'YOref
eep40-7n 3 eep4l-7n 3
Test chart eep4; Equal 9 step grey scaling for four display reflefig@s3,6, 0,4, 0,9, 1,8, and
_ blackL*N cieLAB=8.13,YN=0.9 and whitd*\y cigL AB=95.99,Y\w=90, normalisation: whitgV -
] M Y [0) L \Y -6




